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blBATENbHbIX




(1)4/25*52.(M) . 9) Haiign uncro,
. obpatHoe 3,75. (T)
2) Y + 0,4. (1)

1 10) (0,7*1,8)/(7,2*1,4). (C
. 3)12,6 *0,5. (K) g " -

)X 13=%:%. (3)

4)1,7 :3,4. (N)
- 12)-a=5,4. Hangu a.
t 5) CpaBHu 0,101 n 0,0531. - ) ()
B oTBeTe 3anunwimn meHblLee 13) [-2,9] - |-0,9| - |2|. (b)
yucno. (H)
= 14) Haugmn 10/3 ot 27. (A)
6) x —4/9 = 5/9. (O)
- = 15) Hangw uucno, 11/8
8 /) P=16 cm, a=5,5 cm. g KoToporo paBHbI 88. (E)

Hawngu opyryto CTOpOHy -

npsimoyronbHuka. (P) P @ 16)1,2/0,3*5/10 (A)

fs)S=24cm’a=10cM. | 17)x8 =% (B)
| Haam gpyryto CTOpoHy =
NMPAMOYroSibHUKA.




1 0,125 64

0,0531 64 0,0531

04 90 0,0531 1 0,0631 1 0,125 64 -54
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